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(RBEE (BEEE) W= 185 kg
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@1 RS Y OHMBTER FEIZ& ZUEEH) A= 78 = | 78 x10° m
OWBEEEEZBADIEY ERTRHADOT V> Hh—RIL FOBAY Nt=| 2 ES
B EAELYBBELETOFS He=| 636 Inm= " [0.636 |m
()BT 2HAMNDHIRIL F RS L=| 681 Imm=[0.681 m
(5)EHT BHMDSH AL Fild BB E TOIER Le= 298 mm (Lg <L/2)= [0.298 |m
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(1) BEAKFEEE Kh=| 2.0 |
(2) REtANERE Kv=Kh/2=| 1.0 |
(3) BEAKEHER Fh=Kh-W-9. 8=| 3626.0 IN
(4) BEtRBEHBES Fv=Kv-W-9. 8=| 1813.0 IN
(5) 7w h—HIL kD3IHRN Rb= %H?ijﬁyg = 1693.2 N
(8)7 v A—HKIL FOHAMH Q=Fh/N=| 906. 5 IN
(7)F7oh—RILMETBHHE
D3IRBHE o=Rb/A=| 21.7 IMPa< ft=176MPa
Q@AM HE T =0/A<] 11.6 IMPa< fs=101MPa
QBIREBAMERBICRIT DS fts'=1.4ft-1.67=| 227.8 MPa
ffE L. fts' SFtO & Efts=fts', fts' >ftOE Efts=FtTHEDT fs=| 176.0 MPa
o= 21.7 | WPa < fts=| 176.0 IMPa
(8)7vh—RIL bOIELE
D7 v h—RIL F OB = BRERIBT U N—
@aviy—+rOEE =] 180 = | 0.180 m
QR FOEARE S =] 130 = | 0130 m
@FRBRAE Ta=| 5488 N > Rb= | 1693 |N
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